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SM4£E7RA108 (RiE:R1. 7. 21)

9 i=3 B O E K BB E K B = % * B EE K

B ZE KX 3 # & B & B B # & # 3B # & F

# 1pEx S E| 1,956] 2,183 4,139 55 45 100] 2.81 2. 06 2.42 1,901 2,138| 4,039
/D Aif[=] .

w opER |5 E| 3,463 3,570 7,033 63 37 100] 1.82 1.04 1.42 3,400( 3,533 6,933
REE RN Aij[=] )

# 3pER (S E| 2,893 2,956 5,849 58 42 100] 2.00 1.42 1.7 2,835 2,914| 5,749
REZE/) i [E] .

w aipER |9 E| 3,219] 3,486 6,705 112 88 2001 3.48 2.52 2.98 3,107 3,398 6,505
REEM/N Rij[=] )

# spER (S B 2,757 2,994 5,751 54 46 100] 1.96 1.54 1.74 2,703 2,948| 5,651
REFEMmG Aif[=] .

= sipER |5 M| 2,808 3,093 5,901 59 41 100} 2.10 1.33 1.69 2,749 3,052| 5,801
RREER/ND Rij[=] )

w 7pER S E| 1,905 2,317 4,222 59 41 100] 3.10 1.77 2.37 1,846 2,276| 4,122
K Aif[=] )

w gipER |9 E| 2,348 2,420 4,768 25 25 50 1.06 1.03 1.05 2,323 2,395 4,718

ERETEN G .

= opER | E| 2,691 3,123| 5,814 59 41 100] 2.19 1. 31 1.72 2,632 3,082 5,714
REFE L/ i [E] .

w1opER |5 E| 1,455 1,593| 3,048 30 20 50 2.06 1.26 1.64 1,425 1,573| 2,998
FiEFN Rij[=] )

w118Ex |9 B| 2,171 2,386 4,557 57 43 100] 2.63 1.80 2.19 2,114 2,343| 4,457
REE =/ i [E] .

wm1opER |9 E| 2,269 2,543 4,812 61 39 100] 2.69 1.53 2.08 2,208 2,504 4,712
REE+/ Hij[B] )

w13pEx |9 E| 2,187 2,457 4,644 63 37 100] 2.88 1. 51 2.15 2,124 2,420 4,544
RSN i [E] .

a3t 4 [\ 32,122| 35,6121| 67,243 755 545 1,300 2.35 1.55 1.93 | 31,367| 34,576 65,943

=]

32,171

34,975

31,373




